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1. Two moles of ideal gas at 500 K are isothermally compressed from 1 atm to 10 atm while exchanging heat with a heat sink at 500 K.  Find the final ∆S for the 

a) gas and

b) heat sink.

2. Two moles of ideal gas at 100 K and 1 atm are isochorically pressurized to 10 atm while exchanging heat with a heat sink at 1000 K. Find the final ∆S for the 

a) gas and 

b) heat sink.

3.
One mole of ideal, monatomic gas at 500 K and 8 atm undergoes the following process:

a)
free isothermal expansion to double the volume while in contact with a heat sink at 1000 K followed by

b)
reversible, adiabatic expansion to 3 atm

Find the final ∆S for the a) gas and b) heat sink.

4. One gmole of block of metal initially at 1000 K is brought into contact with a heat sink at 500 K and allowed to come to thermal equilibrium (i.e. – 500 K).  The Heat capacity of the metal is 

Cp = 25.0 + 0.020T     J/(gmole*K)


What is the total entropy change for the system?

